H R

FERAR R-IHS
1259—=323F) BFEER (3Rx2EX2H) P.1
R=v) BFSA (6Rx2FEx2H) P.2
R=v) BFSA (3Rx2FEx2H) P.3
R=w) BFAA (6Rx2FEx2H) P.4
R=w) BFAA (3Rx2FEx2H) P.5
Z1-R9- BFAA (3Rx2EXx2H) P.6
1259—=323F) ZFEER (3Rx2EX2H) P.7
R=v) TF (3Rx2EXx2H) P.8
Z1-R9—- TF (3Rx2Ex2H) P.9




AB3—Far)L BFEIFE@ERx2EXx2H)

6,301,000

H X %1H %2H
#E B UK 1 UK 2 T3> TI7(FIb SF>Y I747FIL1-6
1 = 150,000 150,000 51,000 167,000 104,000 1,341,000
2 = 99,000 99,000 47,000 119,000 /78,000 670,000
3 = 76,000 76,000 43,000 98,000 61,000 336,000
4 = 0 0 0 0 0 258,000
5 = 0 0 0 0 0 198,000
6 = 0 0 0 0 0 153,000
I\ g 325,000 325,000 141,000 384,000 243,000 2,956,000
L—XE 3 3 1 2 2 1
aat 975,000 975,000 141,000 768,000 486,000 2,956,000




R—vw) BFSABRX2FEFEX2H)

9,103,000

H R £1H %£2H
# H SUVR1 SUVR2 L3> I FI S2F>9 2 S>¥>J1  TJpAFN13-18 TpAFIN7-12 JrAFIL1-6
1 =1 136,000 136,000 51,000 160,000 51,000 70,000 93,000 123,000 1,343,000
2 = 90,000 90,000 47,000 114,000 47,000 63,000 84,000 112,000 671,000
3 =1 70,000 70,000 43,000 95,000 43,000 58,000 76,000 101,000 336,000
4 = 0 0 0 0 0 0 0 0 258,000
5 =1 0 0 0 0 0 0 0 0 198,000
6 = 0 0 0 0 0 0 0 0 153,000
4N 5 296,000 296,000 141,000 369,000 141,000 191,000 253,000 336,000 2,959,000
L—X¥K 6 6 3 3 2 1 1 1 1
ait 1,776,000 1,776,000 423,000 1,107,000 282,000 191,000 253,000 336,000 2,959,000




R—vhy BFSABRXx2FEX2H)

5,786,000

H X %1H %2H
#E B UK 1 UK 2 T3> TI7(FIb SF>Y I747FIL1-6
1 = 136,000 136,000 51,000 152,000 104,000 1,219,000
2 = 90,000 90,000 47,000 108,000 /78,000 609,000
3 = 70,000 70,000 43,000 89,000 61,000 305,000
4 = 0 0 0 0 0 234,000
5 = 0 0 0 0 0 180,000
6 = 0 0 0 0 0 138,000
I\ g 296,000 296,000 141,000 349,000 243,000 2,685,000
L—XE 3 3 1 2 2 1
aat 888,000 888,000 141,000 698,000 486,000 2,685,000




R—wy BFAABRX2FEXx2AH)

5,410,000

H X %18 £2H
% B SUVR1 SOVR2 L3> I FIL 5% 2 S>%291  JpAFIN13-18 | JpAFINT7-12 | Tr4FIL1-6
1 = 78,000 78,000 43,000 93,000 41,000 48,000 71,000 95,000 424,000
2 = 61,000 61,000 39,000 71,000 39,000 46,000 64,000 86,000 282,000
3 = 50,000 50,000 36,000 60,000 37,000 44,000 59,000 77,000 189,000
4 = 0 0 0 0 0 0 0 0 157,000
5 = 0 0 0 0 0 0 0 0 131,000
6 = 0 0 0 0 0 0 0 0 109,000
/N 5 189,000 189,000 118,000 224,000 117,000 138,000 194,000 258,000 1,292,000
L—2%E8 6 6 3 3 2 1 1 1 1
ait 1,134,000 1,134,000 354,000 672,000 234,000 138,000 194,000 258,000 1,292,000




R—Iwh) BFAA(BRX2FEX2H)

3,219,000

H X %18 %2H
#E B UK 1 UK 2 L3> TI7A4FI 5% IJ747FIV1-6
1 a /8,000 /78,000 43,000 86,000 82,000 375,000
2 = 61,000 61,000 39,000 66,000 68,000 250,000
3 a 50,000 50,000 36,000 55,000 56,000 166,000
4 = 0 0 0 0 0 138,000
5 a 0 0 0 0 0 116,000
6 = 0 0 0 0 0 96,000
I\ g 189,000 189,000 118,000 207,000 206,000 1,141,000
L—XE 3 3 1 2 2 1
ast 567,000 567,000 118,000 414,000 412,000 1,141,000




—a1—XA— BFAABRX27EXx2AH)

1,531,000

H X %18 %2H
#E B UK 1 UK 2 T3> TI7A4FI %27 IJ747FIV1-6
1 a 37,000 37,000 28,000 46,000 41,000 116,000
2 = 28,000 28,000 26,000 35,000 35,000 96,000
3 a 26,000 26,000 24,000 32,000 32,000 81,000
4 = 0 0 0 0 0 68,000
5 a 0 0 0 0 0 57,000
6 = 0 0 0 0 0 47,000
I\ g 91,000 91,000 /8,000 113,000 108,000 465,000
L—XE 3 3 1 2 2 1
ast 273,000 273,000 /78,000 226,000 216,000 465,000




A3 —FaF)l EFERE(BRx2FEXx2H)

2,749,000

H X %1H %2H
#E B UK 1 UK 2 T3> TI7(FIb %27 I747FIL1-6
1 = 64,000 64,000 43,000 74,000 66,000 380,000
2 = 49,000 49,000 39,000 57,000 55,000 190,000
3 = 45,000 45,000 36,000 51,000 46,000 128,000
4 = 0 0 0 0 0 106,000
5 = 0 0 0 0 0 95,000
6 = 0 0 0 0 0 86,000
I\ g 158,000 158,000 118,000 182,000 167,000 985,000
L—XE 3 3 1 2 2 1
aat 474,000 474,000 118,000 364,000 334,000 985,000




R—IwY TF(BRXx27FEX2H)

2,542,000

H X %18 %2H
#E B UK 1 UK 2 L3> TI7A4FI %27 IJ747FIV1-6
1 a 59,000 59,000 43,000 68,000 66,000 346,000
2 = 45,000 45,000 39,000 51,000 55,000 172,000
3 a 40,000 40,000 36,000 47,000 46,000 116,000
4 = 0 0 0 0 0 96,000
5 a 0 0 0 0 0 86,000
6 = 0 0 0 0 0 78,000
I\ g 144,000 144,000 118,000 166,000 167,000 894,000
L—XE 3 3 1 2 2 1
ast 432,000 432,000 118,000 332,000 334,000 894,000




—a—RA— TF(BRX2FEFEX2H)

1,531,000

H X %18 %2H
#E B UK 1 UK 2 T3> TI7A4FI %27 IJ747FIV1-6
1 a 37,000 37,000 28,000 46,000 41,000 116,000
2 = 28,000 28,000 26,000 35,000 35,000 96,000
3 a 26,000 26,000 24,000 32,000 32,000 81,000
4 = 0 0 0 0 0 68,000
5 a 0 0 0 0 0 57,000
6 = 0 0 0 0 0 47,000
I\ g 91,000 91,000 /8,000 113,000 108,000 465,000
L—XE 3 3 1 2 2 1
ast 273,000 273,000 /78,000 226,000 216,000 465,000




